g (3EEAR)

201243 H 15 B AT A
th1 et 2 4 6,000 | & 11 INEL: 76 & 234,000 | F46 INEE: 74 21,000M
2 INEE: 144 3,000 =12 INEE: 70 & 210,000 |&47 INEE: 44 12,000
th3 IMhEt: 145 3,000 =13 INEE: 63 14 189,000M | &48 INE: 24 6,000
th4 INEE: 24 6,000 =14 INEE: 57 {4 171,000 | &49 NG 4 12,000
ths INEE: 34 9,000M |=15 INEE: 93 285,000 | =50 INEE: 5 {4 15,000
the INEE: 3 12,000 | & 16 INEE: 66 4 201,000 | =51 INEE: 5 % 15,000
th8 N 4% 12,000 |E17 INet: 63 ¥4 189,000 | & 52 INEE: 8 % 24,000H
tho INEE: 6 4 18,000 | =18 INEE: 65 {4 201,000 | Z53 INEE: 24 6,000
110 Nt 54 15,000 |=19 INEE: 56 {4 168,000 | 554 N 6 & 18,000H
th11 INEE: 6 1 18,000 | =20 INEt: 42 4 126,000 | & 55 INET: 8 & 24,000
12 INEE: 13 4 39,000 | & 21 Mt 38 114,000 | =56 INET: 3 9,000
$13 INEt: 17 5 51,000 | 522 INET: 35 % 105,000 | 557 INEE: 5 15,000H
14 INEE: 13 4% 39,000 | =23 INEE: 25 {4 75,000M | =58 INGt: 74 21,000M
15 INEE: 12 44 36,000M | =24 INEt: 29 ¥ 93,000M | &F59 NGt 12 4 36,000H
16 INEE: 16 4 48,000M | =25 INEE: 27 # 81,000 | =60 INEE: 12 % 36,000
th17 INEE: 23 & 72,000 | =26 INEE: 32 i 96,000 | =61 INEE: 10 4 30,000
18 INEE: 30 & 90,000 |&27 Vet 29 {4 87,000M |62 INEE: 74 21,000MH
$19-20 INEE: 39 {4 117,000 | =28 INEt: 37 111,000 | =63 INE: 14 {4 42,000M
h21 INEt: 18 ¥4 54,000 | =29 et 24 75,000H |&EfE INGT: 2 % 6,000M
h22 InEE: 2 4 6,000M | &30 INEF: 334 99,0004 BaEt: 222 % 6,759,000M
=4 Gt 15 ¥4 45,000 | &31 INEE: 36 4 117,000
B2 INEt: 24 % 72,000 |&32 et 314 96,000M
=E2 INEE: 9 27,000 | =33 /Mt 314 93,000
=3 INEE: 56 {4 168,000 | =34 Nt 174 51,000
=Es3 INEL: 74 21,000 | &35 Bt 27 ¥ 81,000/

#f1 INEt: 14 3,000 |=36 INEE: 22 % 72,000H
=24 INEE: 80 4 243,000 | 37 INEE: 30 ¥ 96,000M
=$4 INEE: 5 {4 15,000M | &38 I 14 4 45,000
B2 IMEE: 6 ¥ 18,000M | =39 INEE: 16 {4 48,000
=5 INEE: 69 1 207,000 | =40 INEE: 13 44 39,000H
=6 INET: 63 & 192,000 | =41 INET: 10 4 33,000
=7 INat: 57 ¥4 171,000 | =42 INGT: 9 27,000
=8 INEE: 61 {4 186,000 | =43 INET: 9 27,000
=9 INEE: 79 & 237,000 | E44 INET: 6 14 18,000H
=10 IMEE: 113 45 342,000 | =45 INEE: 14 36,000




